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ﬂ§_ 106 (3 [ DEPARTMENT_ID NAME HIRE_DATE MIN_SALARY @ [ DEPARTMENT_ID NAME SALARY HIRE_DATE MIN_SALARY
10 Jennifer 2013-09-17 2400 10 Jennifer 2400 2013-09-17 4400
10 Pat 2015-08-17 4400 10 Pat 6000 2015-08-17 4400
10 Alexander 2016-01-03 3100 10 Alexander 3100 2016-01-03 3100
10 Gul 2016-11-15 2600 10 Guy 2600 2016-11-15 2600
20 Michael 2014-02-17 20 Michael 13000 2014-02-17 13000
20 Tayler 20 Kevin 6000 2016-01-24 6000
20 Kimberely 20 Ta; 9600 2 4 6000
20 Kevin 2017-11-16 20 Kimberely 3100 2017-11-16 3100
30 Den 2012-12-07 30 Den 11000 2012-12-07 11000
30 g 4 30 Shelli 2900 201 24 2900
30 Shelli 20 4 30 Sigal 2800 2015-12-24 2800
(@ [ DEPARTMENT_ID NAME SALARY HIRE_DATE | MIN_SALARY (@ [ DEPARTMENT_ID NAME SALARY HIRE DATE | MIN_SALARY
10 Jennifer 4400 2013-09-17 2600 10 Jennifer 4400 2013-09-17 2600
10 Pat 6000 2015-08-17 2600 10 Pat 6000 2015-08-17 2600
10 Alexander 3100 2016-01-03 2600 10 Alexander 3100 2016-01-03 2600
10 Guy 2600 2016-11-15 2600 10 Guy 2600 2016-11-15 2600
20 Michael 13000 2014-02-17 3100 20 Michael 13000 2014-02-17 3100
20 Tayler 9600 3100 20 Tayler 9600 3100
20 Kimberely 3100 3100 20 Kimberely 3100 3100
20 Kevin 6000 3100 20 Kevin 6000 3100
30 Den 11000 2800 30 Den 11000 2800
30 Sigal 2800 2800 30 Sigal 2800 2800
30 Shelli 2900 2800 30 Shelli 2900 2800
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